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[N.B. 1. Answer all questions in PART A. Each question carries one mark.

v W N

10.
11.
12.
13.
14.
15.
16.

2. Answer any ten questions in PART B. Each question carries two
marks. '

3. Answer all question by selecting either A or B. Each question
carries fifteen marks. (7+8)]

PART - A

What are the Sl units for energy and power?
What are the three modulus of elasticity?
Define angle of projection.
State Newton’s Law of Gravitation.
What is an echo?
PART - B
Define Vector quantity with an example.
Define concurrent forces.
Write the principle of moments.
Define Strain.
Write the applications of viscosity.
Write any two applications of capillarity.
Define time of flight of a projectile.
What is centrifugal force?
State Newton’s second Law.
Define moment of inertia of a particle.

State the law of conservation of angular momentum.
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17.
18.
19.
20.

21.

22.

23.

Define escape velocity.

Define stationary wave.

Define Resonance.

Define noise pollution.

A)

B)

A)

B)

A)

as

PART - C
Give the rules and conventions followed while writing Sl units.
Describe an experiment to verify Lami’s theorem.
(or)

If the resultant of two equal forces is V3 times each force.
Find the angle between the forces.

Find the magnitude and direction of the resultant of two forces
30N and 40N acting at an angle 90° to each other.

Describe an experiment to determine the Young’s modulus of
the material of a beam by bending it uniformly.

Derive an expression for the surface tension of a liquid by
capillary rise method.

(or)

A capillary tube of diameter 0.6mm is dipped in water.
Calculate the capillary rise if the surface tension of water is
72.7 x 107 Nm™ and angle of contact is 0°.

Calculate the surface tension of water if it rises to a height of
5 ¢cm in a capillary tube dipped vertically in it. Radius of the
capillary tube is 2.94 x 10™*m.

Derive an expression for the horizontal range of the projectile.

Show that the range is maximum when the angle of projection
is 45° for a given velocity of projection.

(or)

18.
19.
20.

21.

22.
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